TEHFARIRHE F (R R HR)

REREREZBSE R
S F54E11 A 16 B #21H

% fL %= (B/A)
= N3 "*E‘ E> ;'\\
T = 4% FOE i & (D) BRG] RN A A FL
69,388,000 1
SHF AR P B A I 4 B RS e e
R E R L o LIRERL
6,308,000 [1 65,912,000 F1
FAEA A o ST B N
ARSI A 4T BB A DR AT £ 692 000 94.99 % | (B) =fEME T3 | 9H25H
T # 63,836,300 11
AFSEI0A5H /b SN B
AT6E3H31H T 5,803,300 [1
MBS 4 (R4 B L) [ TR OkiE) A (W) ]
i P 0 (BK) (CF) B ILIBRBE B (B 1L 3 () =35 T3
(Fk) R FnE T Ch) i 3 T3P7 (k) K (Bk) — S

() =Fnaxfi L3




i "A <
e
. I‘l

i j \ \

— ‘Ei, - tq




TEHERRFARHE E (R )

REREREZBSE R
S F54E11 A 16 B #21H

N e N % FL = (B/A) o w
T =2 4 T E il B (A % fL %E (B) N = T BT 2N A A FL H
68,035,000 H
Koy HiK B K E AR L5 SH SR
6,185,000 M 61,706,700 M
SKIHEH B o 5B (k) T2 0 B 52 B 5
RS9 A 5 s 1G] BRAT 5,609,700 90.69 % T 9H4H
T 61,706,700 H
SFSEIH6H »b IHIH L
ASF6FEIAIHA FT 5,609,700 M
IMLBIZEEL FeL4HAAFL) [T OKkiE)ATHN) ]
(BR) TR BRBERA S T2 th i (k) (F) S LI BR BE A % (BR) 1B (%
(BR) 555 (F7) ¥ AL 47 %A (BR) =25 T % (BR) W Fn/E T
() k%6 T 2EPT (BR) K& (BR) — Rtk (F) ZFnakdm 1.3

* MG BIBIERIAT B 167TRDINTLHUF | E DGR (128 1 74#)




Kot REKEH




TEHFARIRHE F (R R HR)

REREREZBSE R
S F54E11 A 16 B #21H

% KL % B/A)
s S ] E I
T F 4% T E O (A) AL E®) | gl R & 4 A KL H
54,153,000 H
() 1| Mt [ i K 7 A ok T SHIEE R
4,923,000 [ 49,727,700 1
ZAFEH H - SXS ki) 0 s
ARSI A 4T M BEAT £5%0.700 91.82 % (k) =3T3 9H25H
™ 49,727,700 H
SRISAEL0ASH 75 LI
AFI64E3ASIE £T 4,520,700 [
MMLBINEE 4 G54 550 ML) [ T8 ki) A(HN) ]
LA E3 A () () I BRBEBA (BR) 1L By % (BR) =3 T2
(BR) BEFn/E 1. (B) HkaRm T2 (BR) K& (BR) — S atax

* 15 B IRIERAT

BHEL6TSDIN LU XD R (8 H44E)




| X EKER

N
X

BIE




